20

1 20Km
2011 6 6 10 00 2011 6 10 00
fil
B it il it fil
iy
1 (@) b c=b-a
) HSv () ISV - ISV
30k 25 49 160
31 2011/3/23 11:43 2011/6/4 1001 16190 2011/6/5 11:50 16350
30k 25 49 (6.2 paSv/hour)
31k 24 11 360
32 2011/3/23 1214 2011/6/4 9:45 37580 2011/6/5 9:56 37940
31k 24 11 (14.9 paSv/hour)
33k
33 2011/3/23 12:32 2011/6/4 9:32 21240 2011/6/5 9:40 21440 24 08 200
33k 24 08 (8.3 paSv/hour)
30K 2011/3/23 13.08 2011/4/24 12:03 4486 - 7923 -
34
30k 25 39 81
2011/4/26 15:42 2011/6/4 11.00 3356 2011/6/5 12:39 3437
25 39 (3.2 paSv/hour)
2% 25 46 190
79 2011/3/23 14:09 2011/6/4 10:16 18420 2011/6/5 1202 18610
29k 25 46 (7.4 paSv/hour)
22km 23 30 7
76 2011/4/2 11:35 2011/6/4 12:00 608 2011/6/5 11:30 615
22km 23 30 (0.3 paSv/hour)
32km 23 54 63
21 2011/4/8 13:18 2011/6/4 13:19 4205 2011/6/5 13:13 4268
32km 23 54 (2.6 paSv/hour)
i i i c/z
c/z
3126 45 24 20km 2011 4 10 22 1-2
3 12 6 4 5 24 1 20km 2011 4 10 22 1-2

(http://www.nsc.go.jp/anzen/shidai/genan2011/genan022/siryol-2.pdf)
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